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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : B-BRO-M-HTA Test Booklet Series

Serial No.

- TEST BOOKLET
790845 GENERAL STUDIES
PAPER—I

Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
%&éS()S&(E}T PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet:

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you shoulg hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every QUesﬁon. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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1. What will follow if a Money Bill is

substantially amended by the Rajya
Sabha?

2.

(a) The

(b)

Lok Sabha may still
proceed with the Bill, accepting
or not accepting the recommen-
dations of the Rajya Sabha

The Lok Sabha cannot
consider the Bill further

(¢) The Lok Sabha may send the
Bill to the Rajya Sabha for
reconsideration

(d) The President may call a joint
sitting for passing the Bill

Which one of the following

statements is correct?

(@)

(b)

(c)

(d)

In India, the same person
cannot be appointed < as
Governor for two or more

States at the same time

The Judges of the High Court
of the States in India are
appointed by the Governor of
the State just as the Judges
of the Supreme . Court are
appointed by the President

No procedure has been laid
down in the Constitution of
India for the removal of a
Governor from his/her post

In the case of a Union Territory
having a legislative setup, the
Chief Minister is appointed by
the Lt. Governor on the basis of
majority support

B-BRO-M-HTA/46A
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3. Which one of the following pairs is
correctly matched?

(a)

(b)

(c)

(d)

Geographical Region
Feature
Abyssinian
Plateau : Arabia
Atlas
Mountains : North-Western
Africa
Guiana
Highlands. : South-Western
Africa
Okavango
Basin : Patagonia
4. With reference to the history of
rock-cut architecture,

Indian

consider the following statements :

i

The caves at Badami are the
oldest surviving rock-cut caves
in India.

The Barabar rock-cut caves
were originally made for
Ajivikas by Emperor
Chandragupta Maurya.

At Ellora, caves were made for
different faiths.

Which of the statements given
above is/are correct?

(@)
(b)
(c)
(d)

1 only
2 and 3 only
3 only

1, 2 and 3

www.jkchrome.com
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1. 7fe Tw W fEdf um fades d g
Iy HTdl 8, @ qeqg =41 gt

(@) T |ET, TST A1 I TgmER i

(b)

(c)

R ® AT AEFR H, I
Tt W = FEaE = gt 2

i aa1 faggs w am #E fmn
&l L gt

@i | fagus it [idER & forg
U4 |1 &1 Sl Tl

(d) Tgufa fdgs &t ufia =@ & fog

T A3 g B G ¢

2. fr=fafiaga st 4 @ F9-a1 v o 27

(@)

()

(c)

(d)

aRd # Uk € AR S 0§ w96y |
3w s T # usawe g
et foran s "

YRd # Al & 3eE Aded +
=iy Us9 % T W g
7 9 g, Sw A0 & S8 I=an
I & =ty tgafa g
e o s

Id & Gfeym & Usa9e ® 3EE
W@ ¥ gEH g Wk oft when
srfereforg =2 2

faurft =ae a9 @9 Tswgn #

gerEt &t fgfe swosae gm,
TgHd wue % IR 0, Y S B
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3. f=ffaa gmi & & #F-w1

gifed 287
wimiferes wrero =y
(@) T @R . swE
(b) T wEd : IE-atEE
3T
(c) TET Iy o afEmer-ufid
TRl

(d) AwET EOT ;e

4, Y fiemEng * sfem F w=d 4§,
Frafefga syt w famm Aifs .

1.

aRrEt it T WRa il Wi
37afite fersd THE |

A I Seihd THN FEE TS
TS TS o |

wE #, e e e\ % fa
EEERIER

S ot & @ F-w/A T /A

(@) FFA 1

(b) Faw 2 3 3

(c) a3

(d 1,23R3
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5. Recombinant DNA
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technology
(Genetic Engineering) allows genes
to be transferred

1. across different species of
 plants

2. from animals to plants

3. from microorganisms to higher
organisms

Select the correct answer using the
codes given below.

{fa) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

6. The Chinese traveller Yuan Chwang

(Hiuen Tsang) who visited India
recorded the general conditions
and culture of India at that time. In
this context, which of the following
statements is/are correct?

1. The roads and river-routes
were completely immune from
robbery.

2. As regards punishment for
offences, ordeals by fire, water
and poison were  the
instruments for determining
the innocence or guilt of a
person.

3. The tradesmen had to pay
duties at ferries and barrier
stations.

Select the correct answer using the

codes given below.

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

B-BRO-M-HTA/46A
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7. Consider the following :

1. Star tortoise

2. Monitor lizard

3. Pygmy hog

4. Spider monkey

Which of the above are naturally

- found in India?

(@ 1, 2 and 3 only
(b) 2 and 3 only
() 1 and 4 only
d 1, 2,3 and 4

8. Which of the following can be found

as pollutants in the drinking water
in some parts of India?

1. Arsenic

2. Sorbitol

3. Fluoride

4. Formaldehyde
5. Uranium

Select the correct answer using the
codes given below.

(a) 1 and 3 only

(b) 2, 4 and S only
fc) 1, 3 and 5 only
d 1,2, 3,4and 5

9. With reference to Indian History,

the Members of the Constituent

Assembly from the Provinces were

(a) directly elected by the people of
those Provinces

() nominated by the Indian
National Congress and the
Muslim League

(c) elected by the Provincial
Legislative Assemblies

(d) selected by the Government
for their expertise in
constitutional matters

www.jkchrome.com
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5. @S DNA  Weifidt  (sngafiies 7. Fafafas w foeem $Hifsw -
Feiifaerdt) St A wmTata 9 @ @ 1. O g
1. vt f fafve sfeat & 2. wiie fsumett
2. <gall | ol | 3. 9mA gIN
3. qewsfial @ I=er et & 4. wEStAr
gfi g ST 87
(@ Fa« 1, 233
(@) a1 (b) a2 3 3
() Fa« 2 3R 3 (c) Ha=t 13 4
(c) Faw 133 @ 1,2, 34
(@ 1,233 8. Frffad # @ F9-8 A % o Wit §
3 % e # wgus F ¥ 7 q1g S 7
6. WG I A61 F A et Al A = L mﬁﬁ?
(R @) X dE R 6 G 2. wRfaia
st 3k deph ot R 21w 3., et
v #, Frafufaa § @ F9-w/@ . 4. wHfcsERS
udt 3/87 5. qfam
1. ®S® 3R F&-7rl AR ¥ g0 @@ A Ry m gz & W@ W IW
RRESR EE
2. el a% Iyl & fou Ive W we (@) Faa 133
2, of, 5@ 9 fou g wegden (b) F2, 435
e s @ et off =t Hi (c ¥aw 1,335
v sryan 9w & Folg & e d 1,2, 3,435
Of
3. il @l et 3 A W yeE 9. W sfem & @ #, Wl & wfum
1 g 4Tl vl F HIH
=t & @it g @8 Ratfa
‘ fo e mu F2 & W W wd W (a)? ol &
LA (b) Wi T FhE @ GfEm o
(a) ¥« 1 g1 i ge A
(b) Faw 2 3R 3 (c) Eﬁﬂuﬁumwaﬁmﬁaﬁagq
fe) ¥ 1303 (@) e T, dhe T
(d 1,23R3 fordregan & oo g o 9
4
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10. Consider the following animals :
1. Sea cow
2. Sea horse
3. Sea lion

Which of the above is/are
mammal/mammals?

(@) 1 only

(b) 1 and 3 only
(c) 2 and 3 only
(d 1,2 and 3

11. Consider the following statements :

Tt An amendment to the
Constitution of India can be
initiated by an introduction of
a bill in the Lok Sabha only.

2. If such an amendment seeks to
make changes in the federal
character of the Constitution,
the amendment also requires
to be ratified by the legislature
of all the States of India.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
{c) Both 1 and 2

www.jkchrome.com

Which of the statements given
above is/are correct?

(a) 1 only

(b) 2 and 4

fc) 1,2 and 3
(d) 1 and 3 only

13. With reference to the usefulness of

the by-products of sugar industry,
which of the following statements
is/are correct?

1. Bagasse (can ‘be wused as
biomass fuel for the generation
of energy.

2. Molasses can be used as one
of the feedstocks for the
production of synthetic
chemical fertilizers.

3. Molasses can be used for the
production of ethanol.

Select the correct answer using the
codes given below.

fa) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

(d) Neither 1 nor 2 14, Variations in the length of daytime

12. Consider the following statements :
Attorney General of India can

1. take part in the proceedings of
the Lok Sabha

2. be a member of a committee of
the Lok Sabha

3. speak in the Lok Sabha
4. vote in the Lok Sabha

B-BRO-M-HTA/46A 6
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and nighttime from season to
season are due to

(a) the earth’s rotation on its axis

(b) the earth’s revolution round
the sun in an elliptical manner

c) latitudinal position of the place

(d) revolution of the earth on a
tilted axis

www.jkchrome.com
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10. fr=fafaa sgeit w famm v 39 FUAl § ¥ FH-A1/ wd /87
1. ﬁg (@) Faa 1
2. ,
T (b) 2 3R 4
I | | HH-91/8 wAur 2/87 st
@ 1 (d) Faa 13R3
Bl A 8 IR I % 39ieaTe it Iugifien & w=d
_ 13. =
it i 3, Frefefaa # @ Sem/d F ad
d 1,233 3 /57
1. @I F, S 3G F oI S 7w
11. Frafafaa we w e $if $9 % ®9 % 9g TRA1 S Tehal 2|
1. YA % @fayd § geiyd Fad dis 2. ﬁﬁ,%mﬁ%sﬁwﬁé&
a # uw fades A g g I & R o wo-wiE f @
& arey foRan S geRar g1 Rgﬁﬁ?mmm%l
2. fe TEn gy Gfaum ¥ g =i : ‘ <
3 e B it ey &R we % gﬁ%ﬁfﬂm%mm
1 AU NG & w7 & .
faurmvess g e s oft o Ru T F2 w1 W@ W Ed IW
AEEF 2| By
I HEl H H BH-|1/E Al /R (@) & 1
(@) a1 (b) Had 2 3N 3
(b) e 2 (c) Faa 133

(d Tq1AAF2

14, -3 wge # fG-wma o uf-

12,&%%@«%%: T % fm § faftma fre wwo @

A . HETAEETE Bt 87
1. &% g1 FI FETE 7 9T o G (@) 9=t I U A W ol
?
_ (b) YAt w, g F AW AR drEgHE
o g?aﬁfﬁmﬁuﬁr%mwé ek, R
3. o a & a9 e (c) T =t rereia ferfa
Tk @1 # g T Hehall ¢ : (d) et 1 T 3E T qHEEET
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15. The Narmada river flows to the west, 18. Consider the following :

while most other large peninsular 1. Electromagnetic radiation

rivers flow to the east. Why? Geothermal enérgy

1. It occupies a linear rift valley.

2. It flows between the Vindhyas
and the Satpuras.

Gravitational force
Plate movements
Rotation of the earth

3. The land sl to th t
o R b R & g Revolution of the earth

from Central India.

L N M

Which of the above are responsible
for bringing dynamic changes on
the surface of the earth?

Select the correct answer using the
codes given below.

(a) 1 only fa) 1, 2, 3 and 4 only

() 2 and 3 (b) 1, 3,5 and 6 only :
() 1 and 3 fc) 2,4, 5 and 6 only

(d) None

(d 1,2,3, 4,5 and 6

16. On the planet earth, most of the
freshwater exists as ice caps
and glaciers. Out of the remaining
freshwater, the largest proportion

19. Which of the following bodies
does not/do not find mention in
the Constitution?

1. National Development Council
fa) is found in atmosphere as

Bifriars ‘anid Motids 2. Planning Commission

(b) is found in freshwater lakes 3. Zonal Councils
and rivers Select the correct answer using the

(c) exists as groundwater codes given below.

(d) exists as soil moisture (@) 1 and 2 only
(b) 2 only
17. Consider the following pairs : (0 1 and 3 only
1. Nokrek Bio- (d 1,2 and 3
sphere Reserve : Garo Hills
2. Logtak (Loktak) 20. The demand for the Tebhaga Peasant
Lake : Barail Range Movement in Bengal was for
3. Namdapha (a) the reduction of the share of
National Park : Dafla Hills the landlords from one-half of .

2 ek the crop to one-third
Which of the above pairs is/are

clrectly matched? (b) the grant of ownership of land

to peasants as they were the

(@) 1 only actual cultivators of the land

(b)) 2 and 3 only (c) the uprooting of Zamindari

fc) 1, 2 and 3 system and the end of serfdom

(d) None (d) writing off all peasant debts
B-BRO-M-HTA/46A 8
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15. a1 7@ ufim i R Tt R, @&l

s o R @ At o 6
IR Tt &1 T =i 27
1. 78 wF g fayw (fwe) =t o
Tt 2
2. %% forem 3R gager & o9 st
3. 9 % TIE T WRA | uiEm
I B
f= ffw M e & W@ W ad IW
gfu|
(@ wad 1
(b) 2 3R 3
() 133
(d) TE TE
16. gt U8 W, i rcav-se, a6 oA
3R feme & &9 § @ B 99 FeEu-
el 1 HEH 3T 9
(a) TIHUSH H M A FIEAl & &Y
F qrn e 2
(b) axaawaagﬂa‘iaﬂtwf‘aﬁfﬁmm
SITaT 8
c 9rmaSaFEId R
(d) T 3EAT F BIH B
17. Ffafaa gmi w fTem fifsme
1. ighes Stamveed fimd I
veTteal
2. e (Siseh) a ¢ W &7

3. ATESTH UH IWHE ;SN
qafeat

g gw # # wH-A/8 9 gafea

/B

(@) Fae 1

(b) Fae 2 3N 3

¢ 1, 2313

(d) I§ TE

B-BRO-M-HTA/46A

18. ﬁm%%ﬁqtﬁﬁnﬁﬁrq

o b~ WD =y

Wﬁﬁﬁq-@gw‘?%g&mnﬁm
g @ o fordam &7

(a) %9 1, 2, 3.3 4

(b) Fa 1, 3, 5 36

(c) FaH 2, 4, 58 6

(d) 152,38, 4,5 3M6

19. fr=fafaa # @ frm e /fm freml =
afaem o sg@ T 27
1. Ui foem gfteg
2. FiSET AEm
3. &t afed

f9 fRu T F = oW W EE IW
gFm|

(@) FHIA 1 AR 2

(b) Fad 2

(c) Faet 1 3R 3

(d 1,23R3

20, s & faumm fram sn=iem i @ A

ofi?

(@) wffer i feled  waat F a8
T | FH Feh Uh-Taes

(b) HfF 1 arfas @fae 89 % T,
-TaTfie Fh! I TG HEAT

(c) wHier 9o &1 IEH qd1 HivETEd
1 3

(d) FIH F THED FON H E FAT
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21. The Parliament can make any law 24. Contour bunding is a method of soil
for whole or any part of India for conservation used in
implementing international treaties

(a) with the consent of all the _ :
States (a) desert margins, liable to strong

wind action
(b) with the consent of the
majority of States

(b) low flat plains, close to stream

(c) with the consent of the States Sirics. Tiable thalloMng

concerned

(d) without the consent of any

State (c) scrublands, liable to spread of
weed growth

22, In the grasslands, trees do not
replace the grasses as a part of an
ecological succession because of (d) None of the above

(a) insects and fungi

(b) limited sunlight and paucity of

nutrients 25. The Government enacted the

Panchayat Extension to Scheduled
Areas (PESA) Act in 1996. Which
(d) None of the above one of the following is not identified
as its objective?

(c) water limits and fire

23. Which one of the following is the
correct sequence of ecosystems
in the order of  decreasing (a) To provide self-governance
productivity?

(a) Oceans, lakes, grasslands,

(b) To recognize traditional rights
mangroves

(b) Mangroves, oceans, grasslands,

lakes (c) To create autonomous regions

in tribal areas
(c) Mangroves, grasslands, lakes,

oceans
{d) Oceans, mangroves, lakes, (d) To free tribal people from
grasslands exploitation
B-BRO-M-HTA/46A 10
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21. HHY, AL HieE F 9Ra & Tt wm

roraT Tept WRa # @ A F o,
oft ST = TRl B

(@) Bt Tt it weAfa |
(b) wEEEA T4l 6t wEAfa |
(c) et et it ggafa &

(d) T fFeht o= 6 wewfa @

22. "EEyEl § ga wiRufas argswHm % o5

F wq # forg wwor gl = wfaeenfug T
F 87

(a) T TE FFH & H

(b) Hiftra T & Wbt TE U qwEl
FHt % o

(c) < F et wd A F FwRor

(d) 39 § & S T

23. TiiEsl i EHd IeaTewdl * HH H Iq@

fr=fafias § & F9-w1 sgwn wd 27
(@) WEETR, i, T, fie
(b) T, HETETR, HEEE, Fid
(c) v, e, e, HETET

(d) e, fuE, i, ST

B-BRO-M-HTA/46A
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24, v-"ie i gt dua &y w1 g waf
% fere g 27

(@) T 9o TR F 21 A% 3ura

(b) T VETEl % |l F1, TG B
aran, e guae AeE

(c) TGV F AGH heH H TEEAT
I oA i

(d) ST E | A&

25. TR 4 Fua & # TEEd foen
(PESA) atfuftzm #t 1996 # srfufafim
| fr=fafaa & @ $9-91 o 3@
Ry F w9 F Afima T8 27

(@) EEITEA TG AT

(b) R SAfUERRT S W AT

(c) ST &= § T@Ew &= % i
AT

(d) SR ST ! IS0 F Geh HAT

[P.T.O.
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Other Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006, who shall be the authority to
initiate the process for determining
the nature and extent of individual
or community forest rights or both?

(a) State Forest Department

(b) District Collector/Deputy
Commissioner

(c) Tahsildar/Block Development
Officer/Mandal Revenue Officer

(d) Gram Sabha

27. Improper handling and storage of
cereal grains and oilseeds result in
the production of toxins known as
aflatoxins which are not generally

destroyed by mnormal cooking
process. Aflatoxins are produced by

(a) bacteria
(b) protozoa

(c) moulds

(d) viruses

28. Economic Justice’ as one of
the objectives' of  the Indian
Constitution has been provided in

30.

(a) the Preamble and the
Fundamental Rights

(b) the Preamble and the Directive
Principles of State Policy

(c) the Fundamental Rights and
the Directive Principles of State
Policy

(d) None of the above

B-BRO-M-HTA/46A 12
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26. Under the Scheduled Tribes and 29,

www.jkchrome.com

Due to improper/indiscriminate
disposal of old and used computers
or their parts, which of the following
are released into the environment
as e-waste?

1. Beryllium
Cadmium
Chromium
Heptachlor
Mercury
Lead

S R o T e

Pluto_nium

Select the correct answer using the
codes given below.

(@ 1,3, 4,:6 and 7 only
(b) 1,2, 3,5 and 6 only
fc) 2, 4,5 and 7 only

(d 1,2, 3,4,5 6and?7

Acid rain is caused by the pollution

of environment by
(a) carbon dioxide and nitrogen

(b) carbon monoxide and carbon
dioxide

(c) ozone and carbon dioxide

(d) nitrous oxide and sulphur
dioxide

www.jkchrome.com
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26. JIYHEd SHSIG G A JRAE aTETH

(a7 wftrerd it =) wfafTam, 2006
& o, =fe@ o wERE &
aAfrerrl s19ran 91 Al Wl vd fawam &
frufor & wfF @ ww =@ F fo
T TR e

(@) TsF 3 fawm
(b) TSten ety /3Iag®

(c) deHieRr/ave fawm it/
prceiicr= g e

(d) T Gq

27. A R foeedl & AgIgS waEE I

WUEHU & UHURa®y Tfast &1 3emed
Bl 2, T srvemeiedi & 9™ @ S
ST ?, S gHEE: oiSH a9 $ 3Ty
faf g 7w 7 2R et fhus
B Ieqfed Bia 8¢

(@) Ty
(b) SRS

(c) EEHA

(d) femoy

28, WA & WU % 3Bg A Th & &7 A

‘anfdfer = o foead Iusmw R T
{4

(@) SR 3R A AR

(b) R I Tt A e F PR
ad

¢ g& IR R 5 fi Aifa F
ey 7w

(@) 3w d & fedt & e

B-BRO-M-HTA/46A
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29, A o W wgel A I ISl H

s /At faeR % @,
ffaRad & @ #9-7 3-sufie & w9 4
gt # e e 87

N O AW e

= Rumu e &1 W@ =W g TN
gl

(@ FaA1, 3, 4, 637
() FA1, 2, 3, 53N 6
(c) Fad 2, 4, 53R 7

d 1,2, 3,4,5 637

30. 3 ui fohaeh g0 8 AT wafaRoT Sguw

13

www.jkchrome.com

& FHIO Bt 27
(a) FTeA grgfiaags 3 AgIIeH

(b) HET WHI-ATFEEE N FTeT -
HAlF1ge

(c) I 3 Fe SEATFEE

(d) ggE  IEEEE MR WoW
EIEEICEIEC
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31. With reference to food chains in 33. Consider the following organisms :

ecosystems, consider the following
statements :

1. A food chain illustrates the
order in which a chain of
organisms feed upon each
other.

2. Food chains are found within

1. Agaricus
2. “Nastoc
3. Spirogyra

Which of the above is/are used
as biofertilizer /biofertilizers?

(a) 1 and 2

the populations of a species. (b) 2 only
3. A food chain illustrates the (¢ 2 and 3
numbers of each organism
which are eaten by others. (d) 3 only
Which of the statements given 34. Which of the following adds/add

above is/are correct?

(a) 1 only
(b) 1 and 2 only
fc) 1,2 =nd. 3

(d) None

32. Consider the following pairs :

nitrogen to the soil?

1. Excretion of urea by animals
2. Burning of coal by man

3. Death of vegetation

Select the correct answer using the
codes given below.

(a) 1 only

(b) 2 and 3 only

National Park River flowing (¢ 1 and 3 only
through the
d) 1,2 and 3
Park (@ g
1... Corbett 35. In which of the following States is

National Park : Ganga

2. Kaziranga

National Park : <‘Manas
3. Silent Valley

National Park : Kaveri

Which of the above pairs is/are
correctly matched?

fa) 1 and 2
(b) 3 only
fc)=-1 and 3
(d) None
B-BRO-M-HTA/46A 14
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lion-tailed macaque found in its
natural habitat?

1. Tamil Nadu

2. Kerala

3. Karnataka

4. Andhra Pradesh

Select the correct answer using the
codes given below.

fa) 1, 2 and 3 only
(b) 2 only

fc) 1, 3 and 4 only
(d 1,2, 3 and 4

www.jkchrome.com
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31. uifigdi # @@ FEensi & wed H, 33. f=fafiaa sfat = fa=m fifv
frfefiaa wemt w famm i . 1. Uiferd
1. W@ FaEe 3 FH H HEe Hd 2. HARTH
2, gl shat it w e H-gw 3. TS
% e g A B & sl # @ /A 39 e ¥ e A
2. WE JEe UF W i wE F S B &/89 £7
3r=rfa 918 STt 2 (@ 132
3. @™ ’I@?‘ﬂ W yAE SE Al (b) FaA 2
et &1, S el % W @18 S (© 233
| %,ﬁﬂ?‘haﬂ?ﬁ%l (d) ms
W FUAl A | BE-T1/R A9 2/7 34, ffafas # 4 FF-w/A, ga1 § T2
%! FGI1 8 /@ 2?
fa) o 1 1. gl g I w1 Ieas
(b) Fa@ 1 3R 2 2. WIS ZRT HIFA Bl AAMT
3. Fwwfd i g
¢ 1,23W3
fo R MU Fz w OwEM W FE IW
(d) 13 e g
(@ =FE4 1
(b) Had 2 3R 3
32. [ﬁﬂiﬁiﬂm@ﬂ?ﬁmﬁﬂ(ﬁﬁt{: ﬁm (c) ¥ae 1 3R 3
EDIC] I
e fibee (d 1,2 3R 3 |
1. w7z adE e . T SSﬁQﬁ'ﬁgﬁﬂF‘ﬁﬁ@mﬁ/ﬁﬂﬁﬁg-gﬁﬁ

2. FHISGM UEE AW, 0 T
3. WEde aetE b FwE

I

Twi i AR BRea/d T ghE
2/2?

@ 132
(b) A 3
(c) 133
(d) IE T

B-BRO-M-HTA/46A 15
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I (HehTeh) 94 UTHfosh Iam | g
ST 87

1. dfieErg

2. wd

3. FAleH

4, ATY WA

2 fw MU F = oM W O IW
gfu|

(@ Faa 1,233

(b) FEA 2

(c) Fad 1, 3 3R 4

d 1,2, 334

[P.T.O.
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36. Some Buddhist rock-cut caves are
called Chaityas, while the others
are called Viharas. What is the

difference between the two?

(a) Vihara is a place of worship,
while Chaitya is the dwelling
place of the monks

(b) Chaitya is a place of worship,
while Vihara is the dwelling
place of the monks

(c) Chaitya is the stupa at the far
end of the cave, while Vihara is
the hall axial to it

(d) There is no material difference

between the two

37. Which one of the following describes
best the concept of Nirvana in
Buddhism?

(a) The extinction of the flame of
desire

(b) The complete annihilation of
self

(c)] A state of bliss and rest
(d) A mental stage beyond all

comprehension

38. According to the Constitution of
India, which of the following are
fundamental for the governance of
the country?

(@) Fundamental Rights
(b) Fundamental Duties

fe) Directive Principles of State

Policy
(d) Fundamental Rights and
Fundamental Duties
B-BRO-M-HTA/46A
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39. The people of India agitated against
the arrival of Simon Commission
because

(a) Indians never wanted the
review of the working of the
Act of 1919

{b) Simon
mended
Dyarchy
Provinces

Commission
the
(Diarchy)  in

recom-
abolition of
the

(c) there was no Indian member
in the Simon Commission

(d) the Simon Commission
suggested the partition of the
country

40. Quit India Movement was launched
in response to

fa) Cabinet Mission Plan
(b) Cripps Proposals
(c) Simon Commission Report
(d) Wavell Plan
41, The balance of payments of a
country is a systematic record of

(a) all import and export
transactions of a country
during a given period of time,
normally a year

(b) goods exported from a country
during a year

(c) economic transaction between
the government of one
country to another

(d) capital movements from one
country to another

www.jkchrome.com
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36. B Jorhd G THBI H AA FEd 39. EAA FHNE & A F fawg wwdE sH-

vafF 3= # faew ) St # @ o 27

(@) TR qeT-Tg@ B g, SEfh =
g fiegatt w1 Framaea 2

(b) FF TE-¥T A 8, Saih {FER
airg firggedt 1 Famaem @

(c) =Hea TH & W H R | =y g,
st e o W efta e g &

(d) 31 H RS TGRE FR TE B

37. f=ffgg & @ #9-91 ™ Ng 77 A
faafor &t srayron ! gEAE T FAl
37

(a) ToOTEH AW H THA
(b) T F i AfceadEa
(c) U= ug fasm i feufd

(d) ORI TG, STaE

38. WA & wiaum % ogan fr=fafea § @
F-T1, 2N & A & 0 U@ 27

(@) " F@ HAHER

(b) W FiA
(c) TsF = ifa & Freers o=

(d) W= ARHR a9 g FeA

B-BRO-M-HTA/46A 17
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T=Te F1 g?

(@ 9™, 1919 & futem &
FRfardl w1 giemr Fsft T =ed 9

(b) wTEE FHEE 3 gl # fywmEa A
Ty 1 wEgfd Al o

(c) TTEHA FHEE H HI3 H G Fe=
ERE]

(d) wEE FHEE 3 dmew faweE w6
goma fean o

40. YA BTel e et afdfsran d oy

feran Tm?

(a) ez fiwm Fem
(b) o wE

(c) WTEHA FHte feard
(d) = e

41. 2w 1 gram dge fRae =aferd

At 87

(a) Treh fuffa wwa & <wF, gmEE:
s oo #, feft 3w @ e HEE
iR ot =1 a9-37

(b) e = & ww 2w g fafa Ao
st

(c) T 3w F wER AR @ W A
wER % o= anfde oA

(d) TH WA TR I]W H IS H =

[P.T.O.
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42. The Reserve Bank of India regulates 45. Which of the following characterizes/

the commercial banks in matters of
1. liquidity of assets
2. branch expansion
3. merger of banks
4

winding-up of banks

Select the correct answer using the
codes given below.

fa) 1 and 4 only

(b) 2, 3 and 4 only

(¢ 1, 2 and 3 only

() -1, 2. 3 and 4

43. An increase in the Bank Rate
generally indicates that the

(a) market rate of interest is likely

characterize the people of Indus
Civilization?

1. They possessed great palaces
and temples.

2. They worshipped both male
and female deities.

3. They employed horse-drawn
chariots in warfare.

Select the correct statement/
statements using the codes given
below.

(@) 1 and 2 only
(b} 2 only
&/ T, 2 and 3

(d) None of the statements given
above is correct

to fall

(b) Central Bank is no longer
making loans to comfnercial 46. Which of the following diseases can
banks be transmitted from one person to

(c) Central Bank is following an
easy money policy

(d) Central Bank is following a
tight money policy

44. In India, deficit financing is used for
raising resources for

(a) economic development
(b) redemption of public debt

(c) adjusting the balance of
payments

(d) reducing the foreign debt

B-BRO-M-HTA/46A 18
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another through tattooing?
1. Chikungunya

2. Hepatitis B

3. HIV-AIDS

Select the correct answer using the
codes given below.

(a) 1 only
(b) 2 and 3 only
fc) 1 and 3 only

@y 1, '2vand 3
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42. fafafgg & ¥ $9-9 AWel § YR

fiod &= arforfers d@ o FEba s
27

1. afrarafat 6 ot

2. @ TR

3. &t @ oo

4, A w1 GHIH

f2 for MU Fe & WE W FE IW
ghT|

(a) FaA 13 4

(b) a2, 3 AR 4

c) FaaA1, 2 3R 3

d 1,2, 334

43, &% « # 9fg Gwa: 39 9@ 1 WA @

5

(@) =< A TR R F A A qere

2

(b) FETa Ak " ATVTE i F
7@ 2 @

(c) F=a % wed ga1 Afd w1 e
EORGI

(d) e S w@h g Aifq w1 rgE
EORGR

44, vig #oER # fam smawn Ras fau

Feut  ag & forg IuEm Y St 27
@ i e % R

(b) WS 0 YEH % T

(c) T I 1 GHESH FH F fog
(d) TeRsh o wn w0 & fog

B-BRO-M-HTA/46A
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45. ffafge & @ FH-w/8 @ v Uy

weal % Wt o gd e s 2/
27

1. 3% faume wew ot A<t g 91

2. 3 I S Faarsd, I K IS

Fd o

3. ¥ gg # Agt U e g H
W & o |

=2 Ru T g2 & W W AE FUA/
Hedt i giru)

(a) FaA 1 AR 2

(b) a2

€ 1,233

(d) I weri # § i o v A R

a6. Frffea dmmtet § ¥ HA-d@ ¥ wER

19
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F R U Al § gE AR § HeEid 8
aahdt /27

1. e
2. IFHam B

3. HIV-AIDS

fa fu m Fz w WM W wE IW
IR

(@) Fad 1
(b) Faw 2 3R 3
(c) Fae 1 3R 3

(d) 1,233

[P.T.O.
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47. Which of the following statements 49. Photochemical smog is a resultant of
is/are applicable to Jain doctrine? the reaction among

1. The surest way of annihilating

Karma is to practice penance. (@) NO,, Oz and peroxyacetyl
nitrate in the presence of
2. Every object, even the smallest sunlight

particle has a soul.

3. Karma is the bane of the soul () CO, O, and peroxyacetyl
and must be ended. nitrate in the presence of
sunlight
Select the correct answer using the
codes given below. (¢ CO, CO4 and: NO, at low
temperature
(@) 1 only (d) high concentration of NO,,

O; and CO in the evening

(b) 2 and 3 only

50. Consider the following minerals :
(¢ 1 and 3 only

1. Calcium
(d 1,2 and 3 2. Tron

3. Sodium

48. Which one of the following terms \ ; ;

describes not only the physical Wthh of tl'.le minerals given above
space occupied by an organism, is/are required by human body for
but also its functional rele in the the contraction of muscles?
community of organisms?
(a) Ecotone (a) 1 only
(b) Ecological niche (b) 2 and 3 only ‘
(c) Habitat (¢ 1 and 3 only
(d) Home range (d) 1,2 and 3

B-BRO-M-HTA/46A 20
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47. f=fafga 4 4 F9-71/9 $9 A fagra 49, TEHW-TEEAE g0 w1 S99 fEE @

% ITEY B/87

1. ®4 # foae w@ @ ghifdm awf
agzaf B

2. YA g H, I8 9% gEwad 0 @,
e Bt 21

3. &4 e @ faame R i sEw
THHT 3T HET TR

o fu T FE W WM W AR IW
gl

(@ Fad 1
(b) Fad 2 3N 3
(c) Hae 1 3R 3

(d 1,23m3

48. fr=fafiga & @ F9-81 & &, & G
30 Tew R M e @ @ T,
dfcer Sfial % @geE W I@H FEGH
sifireer &1 oft GulF s 27

(a) < WU (FHIEH)
(b) uTifefae Far
(c) ATETH

(d) STETE-8

B-BRO-M-HTA/46A 21
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Frfufern =1 aftom gar 27

(a) NO,, O, @« WiedtfEafea e
& o=, g % werwr Y sufeufa #

(b) CO, O, dau YUwdCfHRe wEe
% off=, gd % ey Y Iuteuf 7

() CO, CO, a¥1'NO, & o=, f=
a9 9

(d) NO, % I= ®WiEW, O5 a1 CO +
=, 9 % 999

1. Hfeaam
2. WR
3. wifsaw

I® @St # 8 AEE IR | AfRE @
e & fau ferment /bl strawassdl
et 8/87

(@) FEE 1
(b) Fad 2 3R 3
(c) Fad 133

d 1,23R3

[P.T.O.
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51. Consider the following statements :

The Parliamentary Committee on

Public Accounts

1. consists of not more than
25 Members of the Lok Sabha

2. scrutinizes appropriation and

finance

Government

the

3. examines the report of the

Comptroller
General of India

Which of the
above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(@)1, 2-and 3

Auditor

statements given

52. Consider the following Bhakti Saints :

1. Dadu Dayal
2. Guru Nanak
3. Tyagaraja

www.jkchrome.com

Select the correct answer using the
codes given below.

fa) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

54. The most important fishing grounds

of the world are found in the
regions where

(@)

(b)

(c)

(d)

warm and cold atmospheric
currents meet

rivers drain out large amounts
of freshwater into the sea

warm and cold oceanic
currents meet

continental shelf is undulating

55. Which of the following is/are unique
characteristic/characteristics of
equatorial forests?

Who among the above was/were
preaching when the Lodi dynasty

fell and Babur took over?

fa) 1 and 3
(b) 2 only

(c) 2 and 3
(d) 1 and 2

53. With reference to the food chains in
ecosystems, which of the following
kinds of organism is/are known as
decomposer organism/organisms?

1. Virus
2. Fungi

3. Bacteria

B-BRO-M-HTA/46A
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1.

Presence of tall, closely set
trees with crowns forming a
continuous canopy

Coexistence of a large number
of species

Presence of numerous varieties
of epiphytes

Select the correct answer using the
codes given below.

(@)
(b)
(c)
(@)

1 only
2 and 3 only
1 and 3 only

1,2 and 3

www.jkchrome.com
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51. fr=fafia woet w fomm it

www.jkchrome.com

= fiu MU g w1 W W EH IW
g

ek @ it gadE wifd
1. @ | % sfean 25 weEl d (@) *ad 1
o Bt 2 (b) el 2 3N 3
2. @R & fafEm qon fam <wrett #i
it w2 (c) Fae 1 3R 3
3. va & fms-weeraliss  # d 1,233
fae it St et B
I ot § @ -/ T 3/R 54. GUW % Gailsh TeEqul HeEd &9 39 &m
(@) Faa 1 # urg S €, S
(b) ¥ 2 33 (@) F qE WA agEvSdE  umd
(c) *a 3 fireret &
(d) 1,233 (b) et EER § wEe A § A S

52. f=feafaq v v w fa=mr fifsm .

1. 3 e
2. T AFH
3. WIES

39 @ 99 I g1 qU1 A qAEs
g7

(@ 1313
(b) Fa 2
(c) 233
(d) . 132

53. difidd # @@ gEesi & wed #,
ffoaflae & @ fFe vr #1/% 4

HuEeH S HEdTdl 8/FHEA 87
1. foumg
2. hdsh
3. SfEmg
B-BRO-M-HTA/46A 23
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vaTEd Hdl @
(c) e e i quEE g e @
(d) werEdE Ao wfia @

i ¥ B 39 G IR /D s5. fafefan # & #-d, fagada =i A

wfgefa fargran &/ fererwand &7
1. 3=, W gai fit fomma s
e faea foam swma 2

sga-ft sfeat 1 wE-srfe @
aftmredt it e TR #
formmar &

fo fRw MU HE W WM W OEE SW
g

(@) %ad 1

(b) Fa« 2 3R 3

(c) Faa 1 3R 3

(d 1, 2313

[P.T.O.
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56. Which of the following constitute 58. With reference to the history of
Capital Account? philosophical thought in India,

consider the following statements

regarding Sankhya school :

Foreign Direct Investment 1. Sankhya does not accept
the theory of rebirth or
transmigration of soul.

1. Foreign Loans

2
3. Private Remittances
4

Portfolio Investment 2. Sankhya holds that it is the

self-knowledge that' leads to

Select the correct answer using the liberation and not any exterior
codes given below. influence or agent.

Which of the  statements given

@ 1,2 43 above is/are correct?
a 28

(a) 1 only
(b) 1, 2 and 4
(b) -2 only
(c) 2,3 and 4 (¢) Both 1 and 2

(d) 1, 3 and 4 {d) Neither 1 nor 2

59. In the context of India, which of the
following principles is/are implied
institutionally in the parliamentary
government?

1. Ajanta Caves 0

§7. Consider the following historical
places :

Members of the Cabinet are
2. Lepakshi Temple Members of the Parliament.

2. Ministers hold the office till
they enjoy confidence in the
Parliament.

3. Cabinet is headed by the Head
of the State.

3. Sanchi Stupa

Which of the above places is/are
also known for mural paintings?

Select the correct answer using the

(@) 1 only codes given below.
(b) 1 and 2 only (@) 1 and 2 only
(b) 3 only
1,2 and 3
” o (c) 2 and 3 only
(d) None (d 1,2 and 3
B-BRO-M-HTA/46A 24
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56. f=fafaa # & #F9-8 dsfima e & @ 58. wid # g faem & 3ftem &% werw

@ ¥ d, ey weeE 4 et Fefetaa
- Ft T fam Hifvm

1. ®ET QIS 91 ST & AENHA %
2. e faeeft e fogTa % e T8 w5 2
3. fft 3ftw 2. wiew H A § % erer-ym @
4 e S e # 3 A s @ A e

T SAYET HH |
f= fu T g = oET W OER TN

g 39 woEl # @ FH-w/A D R /E
(@) *ad 1

(@ 1,23N3
(b) FAA 2

(b) 1,234 (© 132

(c) 2,334 (d) [da1mad2

@ 1,334 59, WTd ¥ @y #, HEdg wWEA-yuedt d
fFefafaa & @ FF-w/8 fagra g
wq § fafga 2/87

57. frefafaa U wet w e fifw 1. #fHved % 9 TUg % WeH ¥

1. 37 ol T gl _

Aot 2. 49 a% A @ wug & faEe W
% T A e W WA
3. @it =M w8

3. T ® Fwy @ uhmved &
¥ foru off ST St /< S 87
= i M F2 & WM W TN
(@) %1 gl
&
(b) FHae 1 R 2 (g ¥ L
(b) Fa@ 3
i LRsRs (c) *ad 2 3R 3
(d) 1 & d 1,233
B-BRO-M-HTA/46A 25 [P.T.0
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60. The annual range of temperature in
the interior of the continents is high
as compared to coastal areas. What
is/are the reason/reasons?

1. Thermal difference between
land and water

2. Variation in altitude between
continents and oceans

3. Presence of strong winds in the
interior

4. Heavy rains in the interior as
compared to coasts

Select the correct answer using the
codes given below.

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

d) 1,2, 3and 4

61. Which of the following is/are the

characteristic/characteristics of

Indian coal?
1. High ash content
2. Low sulphur content

3. Low ash fusion temperature

Select the correct answer using the
codes given below.

(a) 1 and 2 only
(b) 2 only
{c) 1 and 3 only

(d 1,2 and 3

B-BRO-M-HTA/46A
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62. Which of the following stétements
regarding laterite soils of India are
correct?

1. They are generally red in
colour.

2. They are rich in nitrogen and
potash.

3. They are well-developed in
Rajasthan and UP.

4. Tapioca and cashew nuts grow
well on these soils.

Select the correct answer using the
codes given below.

(a) 1, 2 and 3
(b) 2, 3 and 4
f¢) 1 and 4

(d) 2 and 3 only

63. Consider the following statements :

1. Natural gas occurs in the
Gondwana beds.

2. Mica occurs in abundance in
Kodarma.

3. Dharwars are famous for

petroleum.

Which of the statements given
above is/are correct?

(@) 1 and 2
(b) 2 only
(¢ 2 and 3
(d) None

www.jkchrome.com
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60. WEEUl % oraEll # afde am-uiEr
2 &=l i smen e A }1 s/
THF 1 HAO B/E7

1. yfr o /e & o= ardfa s

2. WErEmt 3 werErd & dte g #
3

3. =& A 9 yaAt 6t foemEa

4, @@ 1 e Rt § B9 ATt
it i

o for MU FE w oW W AE IW
Tl

(@) Fad 1
(b) *aE 1 3R 2
(c) ¥ 2 3R 3

d 1,2 334

61. fr=faftgs # & FH-w1/8 AT TR
&1/% aifiraam 2/87

1. 3= 99 W
2. = gt AW
3. fm= v gnee auE

fH Rymg 2 = W@ W T ITW
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62. wa # wewse fafgEi & am # Feafafad
A q HH-8 U HE 87

1. A HUNvq: e O 6 Ee B
2. A ATEdeM iR TETw ¥ wgE Bt 2

3. I USRYM 3R IW Yo H =S
fampma gom 21

4.  fufgmt § M Rk we &
3=t 30 A R

T2 Rr M g w1 oW W AR ITW
g

(@ 1,233
(b). 2,3 3 4
(€ 13 4

(d) ¥Faa 2 3R 3

63. Fr=fefaa wuai w fomm Hifsw .

1. uifas 9 Teamn @ # ol
STt 81

2. YE W WAl § wwn H 9@
ST 21

3. ynare @i aa & o ufeg 2
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o, g Fol § @ w1/ w2/
(a) a1 3R 2 (@) 1302
(b) ¥ 2 (b) e 2
() ad 1 3R 3 © 233
d 1,233 (d) g TE
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64. Consider the following crops :

1. Cotton

2. Groundnut
3. Rice

4. Wheat

Which of these are Kharif crops?

(@ 1 and 4
(b) 2 and 3 only
e 1, 2and 3

(d 2,3 and 4

www.jkchrome.com www.jkchrome.com

67. Disguised unemployment generally
means

(a) large number of people remain
unemployed

(b) alternative employment is not
available

(c) marginal productivity of labour
is zero

(d) productivity of workers is low

65. “Climate is extreme, rainfall is scanty

and the people used to be nomadic

herders.”

The above statement best describes

which of the following regions?

(a) African Savannah

(b) Central Asian Steppe
(c) North American Prairie
(d) Siberian Tundra

68. Consider the following statements :

1. The Council of Ministers in
the Centre shall be collectively
responsible to the Parliament.

2. The Union Ministers shall hold
the office during the pleasure
of the President of India.

3. The Prime Minister shall
communicate to the President

66. Consider the following statements : about the proposals for

1. Inflation benefits the debtors.

legislation.

2. Inflation benefits the bond-

holders.

Which of the statements given
above is/are correct?

Which of the statements given

above is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

B-BRO-M-HTA/46A
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(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3
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i @ -8 @lie i e 87
(@ 134

(b) Fae 2 AR 3

(¢ 1,23M3

(d) 2, 334

65. Ve W@ B, aui #W ¥ IR @m
JeTaTet TYETE g3 Ha A1 :

I sy fefafea &3 & @ feaa
el 31 9uiA ’7

(a) AFER FEAH
(b) A TREATE R
(c) a0 wEh! Fard
(d) HrEEfEs g

66. Frfafiad Hudt | fa=m fifvw
1. gerhifa R S T ggaTd 81

2. HxEhifd Svg-gret & AW agE
2l

S0 FUA § ¥ FH-51/49 a9 2/87
. (@) HF 1

(b) HIA 2

(c) 1 323

(d Td1MAE2
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67. Y= S w1 wa: 3 g @

(a) S FE FE AR @/ B
(b) AU TSI ITeretl & B
(c) iR i Himw= IeqeTal I 8

(d) =fRt 6 Scareshar A=t

68. f=fefiad wut w o= fifs .

1. %% #§ whufg gug & wfq amfes
®9 § IaErh 2t

2. o™ W ywa % ugefa ¥ yEmE-
= 98 uR HiA |

3. fafu-Fmior 23g wam & am #
wuEEfT, Tgafd w giua s

394 FYAT § F FH-A1/F T 2/R7

(@) Faa 1

(b) Ha@ 2 3R 3

(c) Faa 1 3R 3

(d 1,23MR3

"I, T. 0.
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69. Consider the following statements :

1. National Development Council
is an organ of the Planning
Commission.

2. The Economic and Social
Planning is kept in the
Concurrent List in the
Constitution of India.

3. The Constitution of India
prescribes that Panchayats
should be assigned the task
of preparation of plans for
economic development and

www.jkchrome.com

Which of the statements given
above is/are correct?

(@)

(b)

(c)

(d)

1 only

2 only

Both 1 and 2

Neither 1 nor 2

social justice. 71. With reference to National Legal
Services Authority, consider the
following statements :

Which of the statements given
above is/are correct?

(@) 1 only
(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

70. Consider the following statements :

1. The Chairman and the Deputy
Chairman of the Rajya Sabha
are not the members of that
House.

2.  While the nominated members
of the two Houses of the
Parliament have no voting right
in the presidential election,
they have the right to vote in
the election of the Vice
President.

B-BRO-M-HTA/46A 30
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1

Its objective is to provide free
and competent legal services
to the weaker sections of the
society on the basis of equal
opportunity.

It issues guidelines for the
State Legal Services Authorities
to implement the legal
programmes and schemes
throughout the country.

Which of the statements given
above is/are correct?

(a)

(b)

(c)

(@)

1 only

2 only

Both 1 and 2

Neither 1 nor 2
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69. Fefafiga sl W faam Fifs .
1 e Rem dhug, AN Em &
TH 7T 2
2. e =it wEifes Fs # 9a

% gfaum i grad! g=ht & wan
2l

3. 9a % giauH 78 fafza = 2 fe
qHEEl & efie famE wE
s =™ A ASH T H
FrRR fem s =nfee|

39t weAl # @ F-a1/8 v B /87

(a) Faa 1

www.jkchrome.com

Ffe e @ A/ T 3/E

(@) FFA 1

(b) A 2

(c)

1 3R 2 gFt

(d) T 1 3AH2

71 R fafte @ wftem ¥ g=d A,
fFfafas syt w ffmm fifsw -

(b) Haw 2 3R 3

(c) Had 1313

(d 1,233

70. Tr=fafiad st w fa=m fifsm

To TG @91 1 |9Ofd q1 T8N
39 HaT & Heed el 2id |

2. wafe Twufa & fatew d @ug F
HT Fedl & T GeEdt w HaaH
® Hs AR A& g, IR
Iwefd & fafe & waem @
iR B 2
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1.

THHT ILIT AHH HTEU & YR T
TS & FHHASR M & HYes Ul
e faften et 3uarsy 01 21

2. ¥E |- T ffte swefwEdE ek
greielt @l Ar #A & fau T
faftrs @ wiftsron = fFEw s
FT 2

9 oAl § @ BH-|1/8 ' 2/E7

(@) Faa 1

(b) HEA 2

(c)

1 3R 2 M

(d Ta1dad2

[P.T.O.
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72. During a thunderstorm, the thunder 74. Consider the following liquid assets :
in the skies is produced by the
1. Demand deposits with the
1. meeting of cumulonimbus banlka
clouds in the sky
2. lightning that separates the 4 Tandepesitscwith the banks
nimbus clouds 3. Savings deposits with the
3. violent upward movement of banks
air and water particles
4. Currency
Select the correct answer using the
codes given below. The correct sequence of these

assets in the decreasing order of

liquidity is

(a) 1 only
(b) 2 and 3
1-4-3-2
(el 1 and 3 (4 '
(d) None of the above produces the (b) 4-3-2-1
thunder
(c) 2-3-1-4
73. Consider the following pairs :
Tribe State (d) 4-1-3-2
1. Limboo (Limbu) : Sikkim
2. Karbi : Himachal
Pradesh 75. In the context of Indian economy,
‘Open Market Operations’ refers to
3. Dongaria Kondh : Odisha

4. Bonda : Tamil Nadu
(a)

Which of the above pairs are
correctly matched? (b)

(a) 1 and 3 only

c
(b) 2 and 4 only fe)
(¢) 1, 3 and 4 only

(d 1, 2,3 and 4 @

B-BRO-M-HTA/46A 32
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borrowing by scheduled banks
from the RBI

lending by commercial banks
to industry and trade

purchase and sale of
government securities by the
RBI

None of the above
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72. dfed-iEn & <N, AW 7 afedq e/ 74, rafafas @@ ofmwfE w foEw

fFeh g0 I Bt 2/37 Hifsw .
1. T # e -adt 7 & e @ 1 1 % g uin s
2. df$q @, S awie # gosg Fd 2. Wt % gt S
3. a1 3N S Fl % S R AR A L T | Tvmme—
! oo |
| 4. wH
i A Ru T g Fw WM W EE TN
| Tl 79 ufgrafedt %1, aieal & =2d gY FH
| 4, well orghH 2
l v (@) Fad 1
i (b) 2 3R 3 (@) 1-4-3-2
() 133 (b) 4-3-2=1
I (d) I § & A +ff afeq emieq
G ) 2-3-1-4
| (d) 4-1-3-2
} 73. Frforfan it o Frew iR ;
FAAAT T
1. fg AN 75. 9dE wdorae & g #, gen aNK
2. el ¢ Temret wew vare fra ffée war 87
3. cSmfamwib. : dfsw
4, dre . afEeETg (a) g S g7 RBI & 01 o
. gifera §7
I : TR " (b) iR F=i g I@m R AR
(a) Faw@ 1 3R 3 851 T T &
(b) et 2 3R 4 () RBI g wwd gfewfedi =1 %9
2R fasa
(c) a1, 3 3R 4
d 1,2, 334 (d) 3ude 8§ ¥ FE T
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A

76. Priority Sector Lending by banks in 79. In the context of cultural history of

India constitutes the lending to India, a pose in dance and
dramatics called ‘Tribhanga’ has
been a favourite of Indian artists
from ancient times till today. Which
one of the following statements best
(b) micro and small enterprises describes this pose?

(a) agriculture

. (a) One leg is bent and the body.is
(c) weaker sections slightly but oppositely curved
at waist and neck

(d) All of the above (b) Facial expressions, hand

gestures (and make-up are
combined to symbolize certain

77. Which one among the following epic or historic characters

industries is the maximum .
: B (c) Movements of body, face and
consumer of water in India?

hands < are used to express
oneself or to tell a story

(a) Engineering :
(d) A little smile, slightly curved

waist and certain hand

(b) Paper and pulp gestures are emphasized to
express the feelings of love or
(C) Textiles eroticism

80. Annie Besant was
(d) Thermal power
1. responsible for starting the

Home Rule Movement

2. the founder of the Theo-

78. To obtain full = benefits of : A
sophical Society

demographic dividend, what should
India do? 3. once the President of the

Indian National Congress

Select the correct statement/
statements using the codes given
below.

(a) Promoting skill development

(b) Introducing more social
security schemes (a) 1 only .

(b) 2 and 3 only
(c) Reducing infant mortality rate
(¢) 1 and 3 only

(d) Privatization of higher education (d 1, 2 and 3

B-BRO-M-HTA/46A 34
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76. wa # FH g wufe &4 FoRE A 79. WRA % AIEGHaE 3faeE & @24 H, I @

areqd feoreeR! o1 37 @ 27 TE-wen hit T g SR B wa
. ST 3, WEH FE ¥ S a% WA
(@ F Fewrl & Afatm @ 2| Fafafea |
¥ FHA-U1 TF FY 30 GF I Ha@H F9
(b) w9 (W) T SR IEW & =t w 37
(@) T qfg Hrgr Sar @ 3R A9
(c) e =t fireg Tt Ream # R wd i
T Y S R
Sl v (b) TE A, TEAYEN Ta S
k Hiqu" AR YT e qr
1 TdIRTHS 9§ T F & oY
' 77. v & Preffan v @ B o, S vl &
gt T R ST I 87 ()27, @ U wEl I N H GEN
= F1 3feIh F TeET U Y
(@) it e & ferg foman st @
_ (@) ve faufe, o9idh o wR @ wfw
(b) T T IR TEAYEIeT W ae fean s 7, W @
SR it sgyfet ot e #
(c) T ¥ forg
) 80. Tl T
1. ¥W & A<IeH TOH & g
IR off
78. AR AT % U @I B A FA & 2. Torwifteere dratgdt it weatfue of
foru v = = e wifRe? 3. 3w TwMa W #B W AR
syeaE o
FAA! e 1 Aered
g i = R e W owm wW
. (b) 3N s @ e A /bl
ol (@) +Fd 1
e (b) a2 3R 3
@ R (c) e 1 3R 3
(d) 3= fnen & Fsfieo (d) 1,233
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81. The Ilbert Bill
related to the

controversy was

(a) imposition of certain
restrictions to carry arms by
the Indians

(b) imposition of restrictions on
newspapers and magazines
published in Indian languages

(c) removal of disqualifications
imposed on the Indian
magistrates with regard to the
trial of the Europeans

(d) removal of a duty on imported
cotton cloth

82. A rise in general level of prices may
be caused by

1. an increase
supply

in the money

2. a decrease in the aggregate
level of output

3. an increase in the effective

demand

Select the correct answer using the
codes given below.

(@) 1 only
(b) 1 and 2 only
fc) 2 and 3 only

(d 1,2 and 3

B-BRO-M-HTA/46A
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83. Which one of the following groups
of items is included in India’s
foreign-exchange reserves?

(a) Foreign-currency assets,
Special Drawing Rights (SDRs)
and loans from foreign
countries

(b) Foreign-currency assets, gold
holdings of the RBI and SDRs

(c) Foreign-currency assets, loans
from the World Bank and SDRs

(d) Foreign-currency assets, gold
holdings of the RBI and loans
from the World Bank

84. Which one of the following is likely
to be the most inflationary in its
effect?

(a) Repayment of public debt

(b) Borrowing from the public to
finance a budget deficit

(c) Borrowing from banks to
finance a budget deficit

(d) Creating new money to finance
a budget deficit

85. Supply of money remaining the
same when there is an increase
in demand for money, there will be

(a) a fall in the level of prices

(b) an increase in the rate of
interest

{c/ a decrease ‘in ‘the rate of

interest

(d) an increase in the level of
income and employment

www.jkchrome.com
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81. @< o faam format weafaa an? 83. wra i frwft wm smfam Ffw #
frafofgs & @ #9-w1 w wEgE
(a) W BT BT A 90 W FD wmferd 27
i wftredt %1 @ e s (@) frsh gz ofmefy, fdw s
R (THo Fo 3Ro) qur foderi
| (b) WA Wit # | AN e |
" gaER-E 3 afEet w afery (b) e g1 iy, v o &%
GIURERIESIE T wif@ @l d feRw s
m(@oﬁoaﬂ'{o)
(c) T % Frit & wrwed A g FA () Treh g dfehy T & @
' % forg simdr =manedie @ emE T w0 M N smEw sRen
AT T EET AT (o o 3T6)
: (d) TRt gz afmeafy, ynd foe S
(d) S G FIS T Y T Yok F10 it ot e fya &% @ o
1 FIAT ST

84, Fmfofiaa 4 4 fpw & &1 o1 gy &

gaiferes whifasr 8 6 qesrae 87
82. WY Hma-wR § agmai fafafea & | (a) e o1 Y R

TR /T o /it @ B wedt 287 ) T u % P & R W A
1. s=a i gfd # 3fg O
2. I@NEA % 9 &) A fvae () = uR & fadm & fog &=t @
3. g win & gfi ‘ b

(d) w2 =1 % fasham & fore 78 g &
2 fRu 7o F F1 W E q@ IW EE|
g

85. =@ #i fdf aumEq @A W AR z=@ i A
(@) %@ 1 % gfe At 2, A

(@) FmHa-wr d fiae an smerft

. (b) Fact 1 3 2
(b) = i H gfg @ s
(c) *aa 233 (c) ==t il # Fft & St
(d) ¥ 3R J9m & wW § MG @
(d 1,233 St
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86. Fruits stored in a cold chamber 89. Consider the following phenomena :

exhibit longer storage life because

(a) exposure to sunlight is
prevented

(b) concentration of carbon
dioxide in the environment
is increased

(c) rate of respiration is decreased

(d) there 1is an increase in
humidity

87. Consider the following fauna of
India :

1. Gharial
2. Leatherback turtle

3. Swamp deer

Which of the above is/are
endangered?

(@) 1 and 2 only

(b) 3 only
(¢) 1,2 and 3
(d) None

88. Ball bearings are used in bicycles,
cars, etc., because

(a) the actual area of contact

1. Size of the sun at dusk

Colour of the sun at dawn
Moon being visible at dawn
Twinkle of stars in the sky

G

Polestar being visible in the sky

Which of the above are optical
illusions?

fa) 1, 2 and 3
(b) 3, 4 and 5
fc) 1, 2 and 4
(d 2, 3 and 5

90. Rainbow is produced when sunlight

falls on drops of rain. Which of the
following physical phenomena are
responsible for this?

1. Dispersion
2. Refraction

3. Internal reflection

Select the correct answer using the
codes given below.

(@ 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1, 2 and 3

between the wheel and axle 91. Many transplanted seedlings do not

is increased

(b) the effective area of contact
between the wheel and axle
is increased

{c) the effective area of contact
between the wheel and axle
is reduced

(d) None of the above statements
is correct

B-BRO-M-HTA/46A 38

38 www.jkchrome.com www.jkchrome.com

grow because

(a) the new soil does not contain
favourable minerals

(b) most of the root hairs grip the
new soil too hard

(¢) most of the root hairs are lost
during transplantation

(d) leaves get damaged during
transplantation
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86. Ifd #w A welE wa fvs g T

v 87. f=fafaa

Ied &, Hifh
(@) G H Uo7 T & St R

(b) TR H HEA SEAEERES  H
Frgal =gl §t S 2

(c) #ET e & e R
(d) A § ST 2

gy wifteme ® fEm
Hifsra :

1. ufeg

2. =R FH (S 2)

3. AT

IH § A RH-11/R Hhead 2/87

(@) had 1 3R 2

(b) Fa 3

(c) 1,233

(d) HrE TE

88, UEfFa 3R &rt § sfa-sgim &1 Im

gl 2, Hiih

(@) e S gt & @ @ W
TR 8 9@ a1 2

(b) Wem ot gt F sfrw wEw W@
Tl &5 9¢ S @

(¢ whem s gd ¥ de weE =
a8 "2 S

(d) 39 weEl § F FE oft et 7 @

B-BRO-M-HTA/46A
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89. Tl qftaemett w o= Hifsw

Myl § g4 & A
FuTE ° gd & T
FuTeRTe ® =wsH1 & faaa
AR 8§ i e femfemmn
. o # gaan w1 e

304w § @ F-9 gfeym 27
(@ 1,23M3
(b) 3,435
) 1,23 4
(d) 2, 33M5

I N

90. v U =uf ¥ g3 W firedt B, @ FRU

FAAT 2| 3EF foru, Fferfiaa # & F-dt
wfifcr qftaeand fan 87

1. gfEq

2, 39EdA

3. AT WEda

= fou o = owEE woEdE IW
|

(@) FEA 1 3R 2

(b) Fae 2 3R 3

c) Faa 133

(d 1,23MW3

91. %3 ufedifta Ne gafer 78 wigd &, it

(a) 73 figt # 3¢ @i verd =& = €

(b) wfesin g@ w7 frdt @ sfew
et & s o &

(c) wieriqur % 4w afereriy g U9 T
7 9Td &

(d) wfedor % drA ufwl afmea @
STt &

[P.T.O.
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92. Economic growth in country X will

necessarily have to occur if

(a) there is technical progress in
the world economy

(b) there is population growth in X
(c) there is capital formation in X

(d) the volume of trade grows in
the world economy

93. Which of the following statements

94, Which of the

is/are correct?

1. Viruses lack enzymes necessary
for the generation of energy.

2. Viruses can be cultured in any
synthetic medium.

3. Viruses are transmitted from
one organism to another by
biological vectors only.

Select the correct answer using the
codes given below.

(@) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(@)1 °2 'and 2

following leaf

modifications = occurs/occur in
desert areas to inhibit water loss?

1. Hard and waxy leaves
2. Tiny leaves or no leaves
3. Thorns instead of leaves

Select the correct answer using the
codes given below.

(a) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d) 1,2 and 3

B-BRO-M-HTA/46A
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95. The known forces of nature can

be divided into four classes, viz.,
gravity, electromagnetism, weak
nuclear force and strong nuclear
force. With reference to them, which
one of the following statements is
not correct?

(a) Gravity is the strongest of the
four

(b) Electromagnetism  acts only
on particles with an electric
charge

(c) Weak nuclear force causes
radioactivity

(d) Strong nuclear force holds
protons and neutrons inside
the nucleus of an atom

96. The efforts to detect the existence

of Higgs boson particle have

become frequent news in the recent

past. What is/are the importance/
importances of discovering this
particle?

1. It will enable us to under-
stand as to why elementary
particles have mass.

2.0 1t will enable™ usg in - the
near future to develop the
technology of transferring
matter from one point to
another without traversing the
physical space between them.

3. It will enable us to create
better fuels for nuclear fission.

Select the correct answer using the
codes given below.

(a) 1 only

(b) 2 and 3 only

{c) 1 and 3 only

d) "1, 2 and 3
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92. x 2w # anffe dafy sifadd w7 @ anfi,
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af

(a) Tam srferaeen & qe-eh wife gt
g

(b) X ¥ SEE gfg Bt @

(¢) X% qft-fafor gar &

(d) T4 sderaren & =mw A wE
el &

93, f=fufaa syt # @ |-q1/2 ad /€7
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95. YHfd % Fd ¥ @ =9 o # fawfea

o s wewar 3, 9@ & Tee, faed-
gEHd, gad ANHE g9 AR YEd
TR w@| 3 g= o, Fefafaa
FHYA #§ § B9 T qE T 27

(@) e, IR # gEQ Yo B

(b) Frega-gract Rk forgd s A
it o foen e B

(¢ TEa TR @ feemfea #

1. fompd § Iei-samm & fa FRO R

ST G T e (@) v R Fe e e i
3. fampEi &1 o Sfe @ @ Sfiq &

TAWOT el Sgehd HaTERl G & : .

g 96. fime ardia #f e gl #u & e &

o fau T Fe w1 oW W EE IW
g

(a) *ad 1

(b) Faw 2 3R 3

(c) Fad 133

(d 1, 23W3

94. TENE A1 § e W ® U F fU

frafafes 4 @ FF-m/8 W s
a1 8/2 €7

1. 3R ud wiEft qui

2. @Y Tof 3reET qotEiAal

3. quf it sTE He

f e T e w1 oW W E IWN
9Tl

(@) a1 3R 2

(b) e 2

(c) Haa 1 3R 3

(d) 1,23W3
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g ¥ R B A e R

e # ) B3 S0 A @S A

e 87

1. %% & 9% "ngA § Heg w6 e
Fuil § wefa 41 a3

2. ug fame ufesy # & @ fargatt &
d= & ifes sraua = ar R

o @ fag @ @ fog 7% v
ARG w6 el e
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97. Mycorrhizal biotechnology has been

used in rehabilitating degraded
sites because mycorrhiza enables
the plants to

1. resist drought and increase
absorptive area

2. tolerate extremes of pH

3. resist disease infestation

Select the correct answer using the
codes given below.

(a) 1 only

(b) 2 and 3 only

fc) 1 and 3 only

(d 1,2 and 3

98. Who among the following constitute

the National Development Council?
1. The Prime Minister

2.7 The Chairman, Finance
Commission

3. Ministers of the Union Cabinet

4. Chief Ministers of the States

Select the correct answer using the
codes given below.

(@) 1, 2 and 3 only
(b) 1, 3 and 4 only
(c) 2 and 4 only

(d 1, 2, 3 and 4

B-BRO-M-HTA/46A
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99. The national income of a country for
a given period is equal to the

(a) total value of goods and
services produced by the
nationals

(b) sum of total consumption and
investment expenditure

(c) sum of personal income of all
individuals

(d) money value of final goods and
services produced *

100. Which of the following grants/grant
direct credit assistance to rural
households?

1. Regional Rural Banks

2. National Bank for Agriculture
and Rural Development

3. Land Development Banks

Select the correct answer using the
codes ‘given below.

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d 1,2 and 3
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(c) wft =l i Jafes o & am
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A Mg qou F s qrft

(b) THad 2 3R 3

c) Faa 133

(@) 1,233 100. umr wfErt # Frefafas 3§ @ @ e
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(d 1,2, 334 (d 1,233
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Examination: Civil Services (Preliminary) 2013

Paper. General Studies Paper-1

Test Booklet Series: A

www.jkchrome.com

No. of Maximum Marks : 200 No. of items : 100

No. of items to be scored;: 100 No. of Items to be dropped: Nil
t1A}J16]|C |31 | A|l4|B|61|A|lmw|[D|ao]cC
2 cl1mmlA |2 |Dl|la|D|e2|lc|m7|ID]|o|c
3B |18| D |2 |B|4|B|e B[l78] A | 9| A
4 | C |19 D|3d|[C 49| A |6sa|C |79 A|loal|D
5 | D|20|A|3|A|s|D|6|B|s|C|o]|A
6 | B|21! D |3 | B|5|B |6 |A|8|Cle]|A
7|A|2|C|3w{Als2|B|e7|C|8s|D|o7|D
8 | C|23|C |3 |C|53|B|68|B|8]|B|os|B
9 [Ci!24| DJ|39|C|54|C|69|Blss|D]|9]|D
10(B|25| Cl4|B|5s5|D|70{8B/|8]|B|10]|C
M|Dj2|D|4a|A|ss|B|71|Ccle|ClH
12,'C 27| C|4#{D|s57}|8B 721D {8 |C
131C |28 | B|4|D|ss|B|73|A|8]|C|
4|D |29/ B |4 |A[s9|A|w|[D[so]cC]
5| A3 |D {4 |B|60|A|75|]C|lew|D]|
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~_ixamination: Civil Services (Preliminary) 2013

Paper: General Studies Paper-1 Test Booklet Series:B

www.jkchrome.com

No. of Maximum Marks : 200 No. of items : 100
No. of items to be scored : 100 No. of Items to be dropped: Nil
/

1 |plwe|lcls|B|ae|Ciet| B A]|9]|C
> Ilplirlcla|Bj4ar| D62 A7T7{C|92]A
3 |A|®B|A}33|B|4|Aje|C|78)B|9|D
4 |A|19| D3| A4 |Djlea|Cl79|C|os|D
s | C|20| A3 )| A8 | CJes|Bjs|D|e|A
61 Cl2t| A |36 AlstiDlfes|A|8 |B}ow|D
7iDi2|Djswjc|s2]C|en|D|8&]|A]|9|C
8 |B|23|Bl3s|B|s3s|B|6e|{D|8|C|{e]|C
o | D24 D3| C |54 B |63 | A |8 | C |9 ]D
wlBl|2s]clw|Blss|pD|70] B |8 | B|100]C
m|cl2e|{Bl4a|A|ss|Aajnn|B|s| DI
12{C|27|B|4|C|s7|D|72|D|8&|C '
31 C|2s| B |4 |B|s|B|7a|B|8]|C|
4{C |29 C |4 | B|59|C ;74]|A} 8D |
151D [30| D |45 | B |60 AY75| D || A
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/" Examination: Civil Services (Preliminary) 2013
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Paper: General Studies Paper—l Test Booklet Series: C

No. of Maximum Marks : 200 . No. of items: 100

No. of items to be scored : 100 No. of Items to be di‘opped: Nil
1 B 16 A 31 C 46 A 61 D 76 D 91 A
2 B 17 C 32 D 47 D 62 C 77 C 92 D
3 B |18 | B |33 | B |48 | B |63} C}{78]|B]|9e3]|D
4 C 19 B 34 D 49 D 64 D | 79 B 94 A
5 D 20 B 35 B 50 C 65 A 80 D 95 B
6 | B|l21|C | |C|5t|A]e|C {8 |A] sg]|B
71 Bl22| Dl c|s2|cl|er|Als|D|o7r|D
8 B 23 A 38 C 53 B | 68 D 83 B 98 B
9 A | 24 D 39 C 54 C 69 D 84 | C 99 | A
10 A 25 C 40 D 29 D 70 A 85 A 100} D
n|A|26|D|#|C|%|B|7mn|D|s|B]| o
12| Cl22|{D |4 |C|s5T]A]72|C |8 |A
13 | B 28 A 43 | A 58 C 73 C 88 | C
4| cl2o|Alm|D[s9|C|7a|Djee)C|
5| B |3 |C |4 |A|s|B|7|Clw|B]|
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Paper: General Studies Paper-I

No. of Maximum Marks :

www.jkchrome.com

';___.«ﬁ;(amination: Civil Services (Preliminary) 2013

Test Booklet Series: D

www.jkchrome.com

200 No. of 1tems : 100
No. of items to be scored : 100 No. of Items to be dropped: Nil
1 {D|W6|A |3 |B|4 | D|6t{C |7 |B]|st| A
2 | C |17 |D|[32|A|47|C|e|C|7|B|92|C
3B 18| D|33|C|4]C |6 |C|78|B}|o]|B
4 1B 19| A{34 | Cl49|Dlses|{C|T79|C|los|B
s | Dj2|B |3 | B|{s|C {6 |D|s|D]|se]| B
6 1A |21 | B |3 | D|{st|DJe | C |8 |{B{o|C
7| D|2| D37 |C|s2|D|6|C|{8|B|lw|D
8 | B|23| B |38 |C 53| A |68|A]8]|B]|o9e]|A
g | C |24 | A|30|D|54|A|60|D 8| A]9]|D
0| A |25 D[4 | A{55|C|70|A 8| A/}10]| C
MiB|26|A|sa|C|ss|C|71|Als|A| ~ o
12 A|2r| C |4 | A|s7]| D}|72{D]|s8]|C \1
3| C|2s|B|4|D|ss|B|[7|B|ss]|B]
141 C |20 C (44 |D|59|D|74|D |8 |C|
15| B |3 |D |4 A |60 |BI[75|C]|o|B |
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Examination: Civil Services (Preliminary) 2013 |

.Paper: General Studies Paper-11 Test Booklet Series: A OW‘-Q( X
No. of Maximum Marks : 200 No. of items : 80
No. of items to be scored : 80 No. of Items to be dropped:  Nii
1 |c || Ccl3|B|46| B |61t B |7 |AC
2 ! D|17{B |32 |Bi{47|D|62|B]77|CD
3 A 18 C 33 C 43 C 63 C 78 | B,C
4 { A119 | C |34 | C |49 A4 D |79 ]|AC
5 |c|20!D |3  B|5|B |6 |D|s [BC
6 |Bl21|A |3s|Clsi| Al le|a] | "
7|l Cci{2|B{3|C|s5|B|67]|B I
8 | B | 23| D |38 B |53 |A|e]|C
g | D|24a}| B |3 | B|54]|C |69 C| f
10| A |25 C |4 | B|5|A{7]|D}
1| A|26|D |4 . C|se|B|7|B]|
12 B 27 A 42 B 57 D 72 A |
3D |28 | A|4|D |58 |D|73|B] |
14| A |20 | D |4 | B |8 |ALm|BY"
15 B 30 C 45 C 60 A 75 | AC
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Paper: General Studies Paper-11
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/ " Examination: Civil Services (Preliminary) 2013
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Test Booklet Series: B G’UV\-Q( y

No. of Maximum Marks : 200 No. of items : 80

No. of items to be scored . 80 No. of Items to be dropped: Nil
1 !pDl1w| c |3 | B|4 | C|61]| B)7]1AC
> 1 Al17] Bl 32| D|4ar| B |6 ]| A |77]|CD
s | A|l18 ! D!33| B|48| B |63} C |78 |BC
4 | Bl1ol Aj3alcisa|Bl6sa) AT |AC
5 | Bl20|A |3 D50 |C|6 | B8
61 Cc 21| B |3 | A5 B|6 | D
71l pl22|Dle7rlAlS52|D 6 ,B"
8§ | D|23| Als3|Dis3 B |68)C
9o | Al2a|lBJ3@|C|54|C 69| C
90| cl2s1Cl4|B|5|B|7]D
111 D!2s| B |4 |Blss|D|71!B
2| Al2rl Ccla|Cls5T|C 72 A
13/ Al2s| C |4 | C|58|A |73 B ‘
14| C|29| D |4 | B |59 B 74| B

15 | B |3 | A |4 | C |60} A T 75 AC

BC -
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/‘ /Examination: Civil Services (Preliminary) 2013

/

Paper: General Studies Paper-11

www.jkchrome.com

Test Booklet Series: C

No. of Maximum Marks : 200 No. of items: 80

No. of items to be scored : 80 No. of ltems to be dropped:  Nil
1 C 16 C 31 B 46 C 61 B 7w |AC
2 | D17 | B |32 | B |47 | B |62 ]| A |77 |CD
3 | Al C|3|]C 48| B !63| C| 78 |BC
4 { AJ19| C |34 C 4| B 64 | A | 79 AC
5 | Cl20| D |3 |Bi5]|C |86 |B/| s |[BC
6 Bi21t{ A |3 | C |5 B |6 | D
7| C|2|B|3|D|5,D|6|B
8 B 23 D 38 A 53 B 68 C
9 D 24 B 39 A 54 C 69 C
10 A 25 C 40 B 55 B 70 D
M| A{26|D |4 | B |D|71|B
12 | B |27 | A |42 C 57| C |72 A
13 D 28 A 43 D 58 A 73 B
14 | A (29| D |4 D 59| B |74| B
15| B |30 C |4 | A |60 A |75 |AC
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—xamination: Civil Services (Preliminary) 2013

/
Paper: General Studies Paper-I1 Test Booklet Series: D
No. of Maximum Marks: 200 No. of items: 80
No. of items to be scored: 80 No. of Ttems to be dropped:  Nil
1 D[] D3] c C 61| B|7]|AacC
2 A 117 B |32]| b/l ar B | 62 B 77 { C,D
3 A 18| C |33 A |48 C |63 C | 78 B.C
A1 Bl19/ B3| A|4]|Ccles|c | A,C
S | Bl12 D {3 |Cls!DIes B | 80 |B.C > |
6 C 21 C 36 B 51 | A 66 C
7 D 22 A 37 < j 52 B 67 B
8 D 23 B 38 B 53 D 68 C
9 A 24| A 39 D 54 B 69 C
10 C 25 B 40 A 55 C 70 D
11 B 26 A 41 A 56 D 71 B
12 B 27 C 42 B | 57 A 72 A
13 B 28 A 43 D 58 A 73 B
141020 B|4|A 58| D748
| 5] B 30D |4 |Ble|C|]|AcC

www.jkchrome.com

51 www.jkchrome.com www.jkchrome.com

www.jkchrome.com



"~ JKChrome

JK Chrome | Employment Portal

() Rated No.1 Job Application

of India &
Sarkari Naukri [
Private Jobs i ) [m—
Employment News Aboit Hilsapp
SAUE IS R oo e e
Notifications

News & Magazines

Rate this app
Tell ers what you t

ith hink

STUDY
MATERIAL

GET IT ON

» Google play

JK Chrome ) CIiCK here tO
Q 47/ DOWNLOAD

J

CHR jk chrome

www.jkchrome.com | Email : contact@jkchrome.com



https://play.google.com/store/apps/details?id=com.gbt.it.jobportal



